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BASEZIA] HEE M HIS (%) 3% HIS (%) 5% B E/M
B (503) 100 (503) 100 1.00
=2 (279) 55 (249) 50 0.89
gg
ol (224) 45 (254) 50 1.13
18-29 M| (66) 13 (94) 19 142
30 CH (45) 9 (65) 13 144
40 cf (85) 17 (84) 17 0.99
Ay
50 CH (115) 23 (104) 21 0.90
60 CH (116) 23 (89) 18 0.77
70 Al o|4 (76) 15 (67) 13 0.88
1389 (198) 39 (222) 44 112
Xl 2HY (153) 30 (128) 25 0.84
3AY (152) 30 (153) 30 1.01
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BASE: T A A Al
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A 503 279 224 503 249 254
18-29 Al 66 37 29 94 51 43
304 45 31 14 65 35 30
40 CH 85 50 35 84 41 43
g 4
50 CH 115 66 49 104 51 53
60 Cf 116 58 58 89 43 46
70 M| O] & 76 37 39 67 28 39
27 198 114 84 222 110 112
18-29 Al 18 10 8 38 21 17
304 17 11 6 27 14 13
1389 40 Cff 41 22 19 40 19 21
ul=
50 CH 48 31 17 50 25 25
60 Cf 48 26 22 38 19 19
70 M| O] & 26 14 12 29 12 17
2H 153 81 72 128 64 64
18-29 Al 19 9 10 22 12 10
30CH 19 14 5 16 9 7
2 Y 40 Cff 19 12 7 17 9 8
ul=
50 CH 32 16 16 25 12 13
60 CHf 36 17 19 27 13 14
70 M| O] & 28 13 15 21 9 12
27 152 84 68 153 75 78
18-29 M| 29 18 11 34 18 16
30CH 9 6 3 22 12 10
3AY 40 Cff 25 16 9 27 13 14
Ll
50 Cf 35 19 16 29 14 15
60 CHf 32 15 17 24 1 13
70 M| O] & 22 10 12 17 7 10
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BN B (503) (503) 30 21 12 9 3 2 7 13 100
s =24 (279) (249) 32 23 11 8 4 2 8 9 100
od (224) (254) 28 19 12 10 2 2 7 17 100
18-29 A (66) (94) 27 17 13 1 10 5 0 8 19 100
30 CH (45) (65) 31 9 15 6 10 1 8 9 11 100
or2y 40 tf (85) (84) 43 13 8 12 0 1 2 11 9 100
50 CH (115) (104) 34 18 10 8 1 7 3 7 13 100
60 CH (116) (89) 29 38 8 11 2 2 0 6 5 100
70 M| O| & (76) (67) 12 28 19 17 0 1 1 2 20 100
1389 (198) (222) 31 21 10 8 3 4 2 10 11 100
X< 2 HY (153) (128) 27 25 14 12 3 3 0 3 13 100
3389 (152) (153) 31 17 12 8 5 1 5 6 15 100
/01 (8) @ 25 43 0 32 0 0 0 0 0 100
e (88) (76) 35 21 13 6 3 3 4 6 10 100
AS=FAEL 6 e | 40 16 3 4 6 4 1 7 19 100
x| o] AR /2| (149) (160) 32 14 13 11 5 1 4 10 10 100
HEFEL (86) (82) 20 26 13 14 4 3 1 3 16 100
st (33) (47) 26 28 13 2 2 6 0 7 16 100
22/2El/7IEL (67) (59) 22 29 17 8 0 7 0 7 11 100
RE/RSE (10) (10) 41 21 0 0 0 0 8 16 15 100
T (140) (151) 45 10 12 6 5 3 3 5 11 100
ol st s (166) (167) 36 19 9 6 3 5 3 10 9 100
CES (162) (149) 12 36 15 15 2 1 0 5 12 100
DE/R3HE (35) (35) 12 11 9 6 6 0 5 1 40 100
HIERE (398) (377) 32 24 10 11 3 4 3 5 10 100
BT A2ITEHS 79) (94) 28 12 19 4 7 2 1 12 14 100
HERS (23) (28) 8 14 11 0 5 0 0 22 39 100
DE/R3HE 3) 4 29 0 0 0 0 0 0 0 71 100
HEolgxg (199) (202) 55 3 13 6 5 4 3 3 8 100
el (193) (177) 7 49 11 15 1 0 2 3 11 100
HEX|X| £ Ho|gt (15) (14) 38 8 11 10 12 9 0 5 7 100
7|er de (15) (15) 24 19 6 5 7 10 0 16 12 100
BH/ZE/RS ) (94) 19 7 1 3 5 3 2 23 26 100
38E7t (196) (185) 13 45 10 14 1 0 1 5 12 100
EH%%?J—;;?% 2YEt (283) (291) 42 6 13 6 6 5 3 8 11 100
DE/R3HE (24 (27 14 14 15 3 0 0 0 15 39 100
38E7t (196) (199) 18 31 18 11 3 2 2 6 10 100
Exlgh—g%?% 2YEt (253) (237) 44 14 8 8 2 5 3 6 9 100
DE/R3HE (54) (67) 16 14 4 5 14 0 0 15 33 100
3EE7t (251) (251) 23 30 13 10 4 1 2 6 11 100
ggg%ﬂg SEEIt (183) (178) 43 10 10 8 3 6 3 7 10 100
DE/R3HE (69) (75) 22 14 13 7 6 1 1 11 26 100



